iﬁ&ﬁﬁzgatéﬁﬁzmﬂm
(?' %811 BEEROB

Nn AA BN 1BRENLY™ -2

C%IT%EP?B?&%%&%W:LD\ TR AR EEET, / SRR
0O2.5km B IEE
/ A
s K
\,.\ ?g
HEoEL lkmi% - %&U;/D = A .%s:@ Q)
PR ' 03.5km
— A ﬁ . /
AR <, "‘-"

WAL

fi

TV A ﬂ

B &GiEEE X —

TR S ST A M — k& 2—/L 5.5km % 23 St
T 23 S
A—X2J Il —MER
PERfE: % 55 km D B 1108/9 (ERXOEEO# 55 %)
BfE: £ 70 & IRIX—HEBE: KE 1kghi=Y 4.4kcal

SR % 8000 & BRMEHEE: XKTHHI~PPEOL
'R BIBE~OLYTYRRE B _BBOLESS
BIEARFEEA LR
BOBEITIRLF—HEECERNEMAKRECEL

FIZIFAECOKEDFMZDIA—REIA—F I LEBE - IRILF—HEBET 264kcal

.> #9168 rugehtclzmYET: HIZFYIE100g-84L) = 168 keal

I— R EBEREHFEZHBHEER PR EEA MRS



